NEHET 1A
108 () 118 0K) 128 (K) 138 (£)
A Bmdb —A&EY | |#zs Bmd —A&Y | |#xs Bmb —A&Y | |#za =4 E —AHY
ERSE TRy E ERSE ERSE
£ |(EBTIEARAY [h~3 200] K [K¥p/< 50| |3 [BERER) 72| (2 |EmEmx@Ek) 65
B ERPTIEARAY [1a~6 20| B [K#p/ S 60| |5 [BAEXER 80 f HpEY 1>+ — (o) 10
17 lmmss e xamz542) 5] |/ I EES 05| |3 [BRESE 1
N gz 04| [¥ [Em 206| | [EHLEYDHA 22| lo  |[RTEEE 10
* [BE 15| |, A £ [&EAS 10
; HS55 58 02 |g  [BEES@xamR51R) 20| |7 [ 206] |2 [ bEE 5
4 |(BHREDFIEC () 5 FAESHE U4 1Al 0.2
Bx 25| | |(B)KREKE 35 () 8 (2cmf8) B AL 40| (&£ |35 H 0.5
PN 250 [|  [Ledird 45| [+ &= A 1
gz, |[ERAS 10 [ |BELEFE 40| |z, BB 2| | FEoavyA 0.5
xR 15 g |AS 10 BOLESK 1 % Bit 0.5
5 |[AEPL 10| || AN D)} 05| | |BiE 01] [ |SL&LS 0.03
< [&ELLVEH(RSAR) 5| [~ |[US5ih |+ X8 4 |<
H bR 2 [r=rEa—L 6 |0 [TASA 3 | 3 206
O [ROLLSH 4 FRETF ey 3| |= |atchoil m—y— 5| |
W AYA 1] |0 |t 12| |2 | |mets B GRABAY) %140
i BiE 0.5 lé JRE—)—R 0.7 ;E; (&) 15 (5mm X 40mm) 5| |F  |gEebt- it (AHAY) /50
% TASRA 2 ol FExoaUYHA 06| ¢ 73 Y 20 § BALE - B DRAHBAY) 70
T EFL LA 5 |5 BiE 05 AHAOL 15 bR 0.3
K 1ol (1 [EL&S 005 gz |AZ 5/ [ |BE 0.2
IF 2z & 40) |z [(h)h—a—y 5/ |5 |SL&S 0.07
5 43 206| |gp L |EALLSW 22| | |v—=L—FK FHEA 5
n +  [ZOvay—Givh) 20| | |RUEE 1| |2 [BAL&SW 15
A |EBD 5| |5 |[FrRY 15 |& [HEADE (BA) 05| |7 [#YA 1.3
B |RAoH A-EE 5| [ [AB 5 |1+ ThRA 0.3
o |EOYH 0.1 FARF—Z (4nnfh) 5 | |ZBEM 2| (v |i& 4
= 7K 15] [y BDULE 1 |& KR 10| |%
*  |Gftim o—U— 4 A | BEE 22| [z AR 10[ |2 [FvRY 25
» Z  [BOLLSH 2| | [hiax 10| |2 [dhs 20
Z  |EShAE 25 Y55 H 1 =ES 10| |7 AS 5
A 20 N=L;] 12| [ |KkE 5 | |BEE 2.2
AS 5 ) 003| [ |AZB 51 (2 [454:H 1
EOLLSK 2.3 it [pRE 3l | [Eas 1.2
tEE 12 YA 25 EOLoOY 1| |7 [&& 0.3
CFEH 0.5 BiE 0.6 cL&S 0.03
WYBIE 1 TR 05| |5
BIVET LA 4l | [R—ar Cam) 7
HUEf i (! Lz 20
= 110 ’J % 20
i AS 5
Vi (LM oYY—La—> 20
L (LR AWSR—=TF 4
| [Fxravux 05
7 [EOLsSe 0.7
o~ |BE 0.4
m [=L&D 0.04
o |z 110
H
L ~ @ In—Ry—sHL—7 35




NEHET 1A
16H(A) 178 ) 18H (k) 198 (K)
e BRd —A%Y | |wze BERt —A&Y | |mza BR4 —A%Y | |wza BRd —A&Y | |sze BR4 — A%y
EhRDE EkRDE EkHE EkHE ERNE
A CEXCE) LA R = DUa VAN € K2 s0f | [BEX(BR) 2| S |[EEXER 72| R [k (B%) 72
% Rk (ER) 80| [V |3yt B 60| [1¥ [BE*xE®R 80| & [mEE*xE®R) 80| R [#A*X(E®K) 80
2 |mex os| | A w = [tk 05
* 5 43 206| |4 43 206/ |4 43 206| | =
- |BEE 1 |4 [FLBALIL—H2nfE) 30 FE A - BZ7EL (2 X 20m) 24 (FILE) L 50| |4 [4EFRPI(BXMRSAR) 20
I LhUuEbYXT 10| |3 |BE 1| |vv |EBEHE- B4l (2 x 20m) 16| | & (FIBR)SIE 70| | ([BLEFEHE 40
VYERES 10 Bt o1 |v [&= 03| |IE [&£= 1| |1 Cohilnvg 30
S 05| |7 [cL&S 003| [— |BH& 1| (D |EE 15| |7 |[hacase35m) 15
* o |osam 1| |1 [FEravyx 03| |7 [casa 8| £ [BOLsSw 2| |1 (a3 15
o [Faz 22| |7 [cash 5 1; fittal O—1— 4 ?f ik 0os| |2 [ELZES 10
5 B9 15| |2 |t a—y— 3 £ [rerrFeyT 8| % 4 |TUZEGYE) 5
v |ERE 2| |7 OB EDETFARKTE 25| |, |ZiEHE 2 4 FRE (2 X 20mR T A R) 10f |z, |&BY 2
— BB 1| |f=taid 3 EOLLSK 1.3 [ov B (2em) 25 I2Al=£ 0.5
L |[EOLLSR ||k |[BiE ol| |1&8 [I2Aal 05| [+ [XIR 15 | |[&£= 05
Th XA 02| |F N |SRE 0.06] |& |2ECAlzwl R wEy::! 1
B FHEOY ) [hi~3 24] |7 [FexY 20/ |T |k ol |, [HELIIES 7| |2 |hER 5
A TUB)EBE=DY (680 [1a~6 36 7 [Savay—uwh 15] [ = |AB 71 |1E [hr—s 1.1
2 A Iz 7 ? BRTE 25 j;f ELVEF (RSAR) 4 B BS54 5
R 206| |4 |BIE otf 7 [|ABBL 10| g |ARE 1y |[(LRBBR=F 4
L L |[EedY 10| |p [EALESW 25| |4, |EXEZFEVT 2
IMRAZE 25 B |A—ar (GE) 5 As 5 |4 |IAE 15[ oo [2RE=Y—R 1.3
=k 20| [ [EHE 25| [ [I2AI< 01| [z [BiE 02| | |EAMDY—R 1
AB 5 A A 20| | |EEE 22| | |EE 112 |BALLSW 1
EANHER 04| [A |Az 10| [ [BOLLSH 22| (P |BIYEE LA 2| |# [Feyx 1
EOLESP 23| |7 [whh—nra—y 5 ;f IX=t 12 X 50 FSESE 1
B 23 :; I =D 2 |5 [ 1 2 E & 0.7
LB 12| |5 |[#LE RE 5 HwYBaIE 1 |g [UR)EDHDEEEY) 15) [ [EL&ES 0.04
WYBHIE g KBhRsr—F 35| |3 L EERY 15| |4 |FEYIVLA 05
Z2 | FExaVYA 05| || KoL R/\L () Btk 5| |0 |FUHUHA 15[ |~ [i& 70
EBAM-RAEL (1 x 1em) 6 EOLLSW 05| (4 G EE (Bvh) 20 AS 5( |/
At E- Bl (1 x 1em) 4| |7 |BE 03| |V |[RTEEH 20 B 22| |F |45 206
1 20/ || [CLsS 003| |F [AB 5 RmOLLSH 22| |®
DEZAIeL e 110 P 3 Tzt 12| | [EEsYnA 2
ik 1vd 5 ;\ FLbhh® (Hub) 0.6 -3 05| |7 [Ew35Y 25
HEWNTIES 10| g [UEDF—X SkEA1E 13.5 Y545 05 OAYLAR 25
A 1 o (LR A BR—T 35 (&) kD 2L+ 35 AS 7
FhE 3| | FEOY A 0.5 EOLELSK 2.2
EOLLSK 2| |~ EOLLSK 0.7 BB 2
BiE 0.7 BiE 0.4 N=L;] 1.2
BIVET LA 4 cL&S 0.03 HS55 0.5
HLER 1 CEih 0.2 oy 3 0.5
7K 120 = 125
IFAMA 100
(B)I—4 Lk 85It 70

_2_




R&EHET 18
238 (H) 248 (K) 25H (JK) 26H (K) 278 (%)
k4 B4 —ABY | |#ze BR% —AN&Y | @z BR% —A&Y | |#izs BR% —ABY | |#is BER% —AZY
EXRDE ERD=E ERS = EERDE EXS=E
t o |ayRRy 50| |\ |HEEXK(EB) 65 [ [HEX(ER) 72| S |[BAEXER 72| |V |BEXER) 72
A T 60| |¥ [pzY 3 & sk @R go| |1&  [HEk(BE) so| || [mEx@ER 80
; [ (s o) 5| & [ 05| |& T stk 05
5 BAKEITF 20 L DEZAIZRLN=D) 10 4 4 iR 206| |,
v |EFEASVTF 10 SIFES (FEAE-NEH) 7 (g [&EL 206 |g|, v |[BAERE (2cmfh) 40
£ FARESHE NES AS 5 Ca) FEEmTE 45 b} 1
| (LhuEhYXE 15| |3 | RTERF 5| |1 [mett-EALUEBHR) 24| |ix |t B—)— 5| |4 [H3FHE 1
T |BUEEHE 20 EOLLSK 25| || |zeeome- Bl GEIBIFED 16| |£ |BiE o1 |2 [(LR)S5F SR 20
ERNIE 10| | [&E 15 |V |iEE 1| |@ BOEER 25
I == NELEREYR os| |~ (& 015 [P [a—z i Gam s 5| [© [gookaa/2nwn) 10
w [IZAIC 03 f;; Bl 04l |7 [cash 1| |2 [Excx 25 é; AB 5
hb7FrvT 8 |x |#%EL 206] | |ABE 4 AZ 5 £2 05
O |PRE=Y—R 2 | [£= 05| |& [EBELLOWY 2| |k [I2AIK 0.5
| BiE 02| [ [SHE0#@ECHE) #$hih20| |7 [I2AIZK 03| (R |[BEE 1.5 B [FLLLH(RS54R) 05
L |TARA 1 [A [ShE@ECHiE 30| [~ [EOL&LSKW 3| | T LB L | R |5 03
2 |54 05| |1 Y & 25| [# [z o5 || [EoLsse 3
T IR 20| |7 |Lam 18| |2 [wymcE 1 EA =T 15
PREE 206 Z FhlE 35| |7 [Czm 05| |3 L« [Fars=U==x 1.5
5 ,5 =ES 15! | K BBHAAYEE 30| |4 BB 0.5
Y I v SV 3| |p  |[HSFH 05| | [AHPL 30| | [XiR 25| |5 |CEiH 05
EpSY 10| |4 |EOLLOW 2l [z [E®3Y 20| |v |EBAS ||y  [TASRA 0.15
7 Wk R—a—y 7 HYA 0.7] |1 AS 5/ [ |hhFE 31 |7 |k 7
> |BE 23| [¥T [Z&Hh 03| |7 |E=2~ 5| |~ |B#% 6| |V |FExrY 25
Lo | rEgE 13 |5 [Euit 10 EOLLSK 25| |7 [haz 5 |~ [FuAuHA 10
'Z; 54 1 JL’; ;‘:’I Bt 25| B [Boun 003 |V |&E 0.08
5 B 03| | [@iBF 3| [ [LEm 13| [* [BFL £LE 4 3';
& |EL&S 0.03 E58 A ShEDE2009 15] [ |SFi# 1 |5 |X 120] |2 [4EL 206
[ H KB 15| | (DBl 0.06| |4, =
(Gl YLk 2= 15| & |£LLEHFRSA4R) 5| [y 3 |UE) IFAS D8R (2{A) 7 _—av (Em) 5
—av (Ef) 5| |A |EBAS 8l |~ [R—ar(Em) 5| [B XiR 25
(LD BVAFATR—Rb 15| |F |t 3 E 25| | € BOEEH 20
Cohig 30| (A [haz 6 FUFL YA 10| |2 AB 5
RUEER | € [Eaz 5 AS 5| |® thh® 3
AB 5| |7 [&EFL LA 4 ZDEtH 5| |4 (LR ABR—F 4
S )] 05} |,n K 140 () Eb v (YY) 4 |5 FEOAVYSA 0.5
INE— 05| |eh LR RBR—T 4 |5 EOLLSHD 0.7
BAESHE 05| |® (BE)Fn=#% 3 FEraryA 06| |L BiE 0.3
(LR)WDR—=F 4| |#& EOLLSK 05| |& cL&S 0.03
FErasyA 0.6 |~ Bit 03| |& B 05
BiE 0.6 ZL&S 0.03 CEH 0.3
cL&S 0.05 = 125 bl 120
aA—VRE—F 1
SRR 30 B F=F)> 40 (BE) &1 40
> 50




R&EHET 18
30H(A) 318 ()
#iB BaRf —A&Y | |mizs BE% —A&y
EhRDE EkRDE
S E A 50| S [HEEX(ER) 72
Qi ESA 6o | [HEEk (BB 80
~ A
fj\ 43 206| | 4 43 206
4 |mEE-REAEL (2 x2m) o| [ [oma mmawy 45
2L |EBAb:-EAL(2x2m) 6| |1 |&EE 04
~—av (BYY-Ei) 10l | |BOLLSW 0.5
R [cesnd 50 | [ 15
b RTEEz 45| [F [cAsA 8
7 [Feny 25 ‘7,: fif-tal O—y— 5
+ AS 15 y; h#HZ 4
v |[BBVAFAF 15) [] b FryT 3
m] +ay 2| |z =R 1.5
v | YSEH | | [EE 0.5
b BAESHE 1 |F [H=Yyai958— 0.04
7 LR ABR—T 4 & 8
~ o FEravus 05| |F  [wyscE 1
5 BiE 0.3 g
9 cL&d 0.03| |5 FAIE 25
i Oo—yT 01f |3 |[FYRY 20
L & 75 | (A 5
F A EOLLSW 2
|l FECrimis 5 | | RuEE 1
A Az 21| |2 |[fEh2BEE) 0.5
EpdY 10 "
BUEER 5 % 608 20
BEE 2l £ | EE 30
AY—Jih 05| | [AZ 7
=} 1 [+ [PheE 3
Bif 0.25 FLLLV[F(RSAR) 0.5
ZL&S 0.04 EOLLSK 1
BiE 0.7
(B) 2)—LF—R 18 ThSh 0.5
BIVET LA 4
HLEfR 1
> 120




